
 Z 

 Z ±8 

 1
80

 

 9
00

 
 3

48
0 

±5
 

 475 

 150 
depends on X

 1010 

 2
53

 

 2
50

 

 320 

 2
00

 ±
1 

 3
28

0 

 3
68

0 
 1685  1680  1685  465  1420 

 200 

 1500  min. 2000 

 max. 4600  2100 

A A

D D

CC

E

E

Centerline Chassis Dynamometer

M
ov

ea
bl

e 
ax

le

M
ov

ea
bl

e 
ax

le

Fi
xe

d 
ax

le

B

Static forces due to weight 
of dynamometer and vehicle:
F_stat.max = 30kN + 11kN = 41kN
Dynamic forces due to unbalance:
F_dyn.max = 0,23kN; f = 0 - 18Hz

Static forces due to tensile forces:
F_max = 39,7kN4

Static forces due to weight 
of dynamometer and vehicle:
F_stat.max = 36,6kN + 11kN = 47,6kN
Dynamic forces due to unbalance:
F_dyn.max = 0,23kN; f = 0 - 18Hz

01

 X
 

 500  7500  200 

 1
65

0 
+  10 0

 

8200 
+
 
5
0

depends on X
B

B

A-A

Isolation

A

Foundation console

C

A

C

0.0

 3x 
200 

 5280 
+
 
5
0 

 240 

 H
E

B
24

0 

 4
50

 

 150 

 250  250 

B-B

3 2 1

Positions of cable ducts are recomended by AVL.
Can be changed in accordance to Building layout

Beam HEB 240 DIN1025-2 or similar dimension
Material: S235 (RSt37-2)
are not included in the scope of AVL-Zöllner delivery

AA

 30  315  320  315 

D-D
1 : 10

01

1:100

 M20 

 M20 

 1
75

0 
+  10 0

 

 1
90

 

 l 
= 

X
 -8

5 

C-C
1 : 10

1x steel sheet 
250x320

4x threaded rod 
M20x250, 8.8

Foundation console is not included in the scope of AVL-Zöllner delivery.
Material is zinc coated steel. 
General tolerances according to ISO 2768-mK.

1
Distance plates 04.26297

are included in the scope of AVL-Zöllner delivery

a6

a3

a6

 200 ±1 

 100 

E-E
1 : 5

2

4

3

Mounting parts
are included in the scope of AVL-Zöllner delivery

Distance plates M00078547
are included in the scope of AVL-Zöllner delivery

Concrete mixture according to EN 206-1:
Recommended concrete strength class: C35/45
Minimum concrete strength class: C30/37
The proper execution of the concrete work is in responsibility of the customer.

All specifications about loads are local maximum forces 
(worst case scenario) and result in sum not the total load.

Foundation plan is according:

All dimensions in mm

1   Signal cable output tube for fixed and movable axle and compressed air

2   Power cable output tube for fixed axle     

3   Power cable output tube for movable axle

4   Power and signal cable interface to facility Internal cable lengths 8m for fixed and 17m for moveable axle 
provided by AVL-Zöllner. 

For construction work please note that:

The area in front of and behind the test stand should be horizontal for a distance of approx. one vehicle length.  

Measurements thus encircled contain an overmeasure for assembly purposes. Positive deviation only are admissable.

Duct for electric cables and compressed air supply to be provided.
Not included in the scope of the AVL-Zöllner delivery.

All provisions to be realised according the local lows.

B

C

A

The surfaces of all foundation 
consoles ideally build up a common 
horizontal plain. Single foundation 
consoles must not deviate from that 
plain more than 2mm by oblique 
position or shifted levels.

The pit walls must not be out of plumb 
with more than 5mm in direction to the 
pit center and more than 15mm away 
from the pit center with reference to 
the upper pit edge.

In the area up to 250mm around the 
pit opening the surface of the finished 
floor must not deviate more than 2mm 
from the ideal horizontal plain.

TR1100010A01 (1st axle CAR)
with TR0100032A01 (Ext. temp. range)
and TR1100155A01(2nd axle Stand.Power)
or TR1100110A01 (2nd axle Full Power)
TR1100011A01 (1st axle LIGHT TRUCK)
with TR0100032A01 (Ext. temp. range)
and TR1100156A01(2nd axle Stand.Power)
or TR1100111A01(2nd axle Full Power)
TR1100169A01 (1st axle LIGHT TRUCK HP)
with TR0100032A01 (Ext. temp. range)
and TR1100170A01(2nd axle Full Power)

Weight of chassis dynamometer: 32300kg
Maximum axle load: 4500kg

T-slot profiles are included in scope of AVL-Zöllner delivery

Pos Filename Amount MaterialNumber ItemGroup DescriptionCZ DescriptionDE DescriptionEN LogicalNumber Parttype Ordermark BOMUnits DrawingNumber Material Weight Disponent CreatedBy ChangedBy Length f RawMaterial BaseModule Revision RevisionTextCorrection

1 Spacing_piece_-3_320x250x100_PE-
HD-+-50068037_- 12 041911 X4 Abstandsstück 

320x250x100
Abstandsstück 
320x250x100

Spacing piece 
320x250x100 04.26297 T F ks 04.26297 PE-HD 7.44 K44 menyharj a16h56 03 ---

2 F00098002 2 603371 04 Montageschiene Clima Montageschiene Clima Halfenrails Clima M00078537 T E ks M00078537 16.29 K87 u12i56 u12i56 00 ---
3 F00098015 2 603373 X4 Abstandsstück Abstandsstück Distance Plate M00078547 T F ks M00078547 PE-HD 23.82 K87 u12i56 u12i56 00 00a
4 Verbundanker RG M16x250 16 015283 69 Verbundanker RG 

M16x250
Verbundanker RG 

M16x250
Thread rod RG 

M16x250 69.2816250 W F ks Fischer St 0.54 K63  DANEKT - 01 ---

Settings for all non-tolerated free sizes:

Basic size range (mm) Limiting size (mm)

up to 100 ± 1

up to 500 ± 2

up to 1000 ± 3

up to 3000 ± 5

over 3000 ± 8

A

B

C

D

E

F

G

H

J

K

L

A

B

C

D

E

F

G

H

J

L

1 2 3 4 5 6 7 8 9 10 11 12 13

16151413121110987654321

A

B

C

D

E

F

G

H

J

K

L

A

B

C

D

E

F

G

H

J

K

L

M

1 2 3 4 5 6 7 8 9 10 11 12 13 14

16151413121110987654321

 Surface treatment

Copyright © AVL Zöllner GmbH, 2017, all rights reserved. This drawing is the property of AVL Zöllner GmbH and may not be reproduced in any form, either in whole or in part, or made available to any third party or used for manufacturing or any 
other purpose without the prior written permission of AVL Zöllner GmbH.

AVL Zöllner GmbH

Pa
pe

r S
iz

e:
   

A0

 Material
Raw material

 

 
 

 

 
u18x91

 

---
Doc No.

2017-08-0301 RAILS POSITION MODIFIED

u10v082017-08-14

 

u12i56

SANETRIM
SANETRIM

2014-05-15

2017-08-15
2017-08-15

M00076378 01 
603201 1 / 1

1:20 kg242.79

D00156837

   
   
   
   

   

   

 

Surface conditions

Seal

Chassis Dynamometer

Page

WeightScale

Description

Master No.

NameDateDescription

NameDate

Shape and position
tolerances

Released

Approved

Created

Rev

Foundation Plan 48" Roadsim 4x2 2.0m WB climatic

Module

Weld norm

PSI no.

Changed

Origin Doc No.

Revision

General tolerances

Fi
le

na
m

e:
   

F0
00

95
03

7


	Blatt1
	Pohled výkresu1
	Section View A-A
	Section View B-B
	Section View D-D
	Drawing View2
	Section View C-C
	Section View E-E


